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King Fahd University of Petroleum and Minerals
Prep-Year Math Program
Math 002 - Term 132
Recitation (7.2)

(seco—tang) +1
secdcscd —tanOdcschd

Question 1: Simplify the following expression

Answer: 2tand

Question 2:  Verify the following identities
(a): cotd—cscd cosd-1
" cotd+cscd  cosh+1

(b): 1 cosx =2csc?x —1
1-cosx 1+cosx
Solution:
cos¢9_ 1 cos¢9_ 1
(a): LHS:cotH—cscezsing Singzsmﬁ'sing Simg:cosﬁ—l
cotd +csco C089+ 1  sing 0089+ 1  cosf+1
sin@ siné@ sin@ siné@
(b):
b - & cosx  1+cosx —cosx (1-cosx )
~1-cosx 1l+cosx  (1-cosx )(1+cosx)
_cos’X +1
1—cos?Xx
_cos’X +1
sin?x
C0s? X 1
" Sinx +sinzx
=Ccot’ X +CSC? X
=csc” X —1+csc? X
=2csc?x —1
Question 3:

sin®(—x ) —cos?(—x) _
sin(—x ) —cos(—x )
a) —sinx —cosx
b) -2sinx
C) sinx —cosx
d) cosx —sinx
e) sinX +Ccosx

Answer: d)
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secx—1 secx+1

Question 4: =
secx+1 secx-1
a) —4cscxcot x
b) —4secxtan x

c) 4cscxcot x
d) 8sec xtan x

e) —2secxtanx

Answer: a) —4cscxcotx
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